                                                                                                      Работа №2.
Вариант 1
1.      Вычислить:
1)   
 INCLUDEPICTURE "https://documents.infourok.ru/a4f0fd7b-eb8a-4097-a994-f9b889588eca/0/image001.png" \* MERGEFORMATINET 


                3)               5) [image: image2.png]logs, 64




2)   [image: image3.png]logy (57)



            4) [image: image4.png]logy,, 125



             6) [image: image5.png]log; 49v7




2.       При каких значениях переменной х имеет смысл выражение:
1)   [image: image6.png]log,_,(5x — 3)



              2) [image: image7.png]log,(x* —x—6)




3.      Решить уравнение:   
1)  [image: image8.png]log; x = 4



                       2) [image: image9.png]log:(3x +7) = -2




 
 
Вариант 2
1.      Вычислить:
1)   [image: image10.png]logg 81



                3) [image: image11.png]log, 0,125



            5) [image: image12.png]log,; 243




2)    [image: image13.png]


             4) [image: image14.png]logy,,5 64



             6) [image: image15.png]36
logs (32




2.      При каких значениях переменной х имеет смысл выражение:
1)   [image: image16.png]log (2547)(3 — 9%)



                      2) [image: image17.png]log,,(x* + 3x — 10)




3.      Решить уравнение: 
1)   [image: image18.png]logs x = 3



                       2) [image: image19.png]logy 5(12 — 8x)





